South Lanarkshire Council

Transfers Report

This report contains the transfers results.

Valid Votes
Positions to be Filled
Quota

5,206 3 1,302

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Maureen CHALMERS	Scottish National Party (SNP)	1,652
Gerry CHAMBERS	Scottish National Party (SNP)	542
David MCCLEMONT	Scottish Greens - Think Global Act Local	169
Calum NIMMO	Scottish Conservative and Unionist	399
Mo RAZZAQ	Scottish Labour Party	1,519
Stephen REID	Scottish Liberal Democrats	110
Bert THOMSON	Scottish Labour Party	815
	Total	5,206

Candidate Maureen CHALMERS Elected with 1,652 votes, being in excess of the quota of 1,302 Candidate Mo RAZZAQ Elected with 1,519 votes, being in excess of the quota of 1,302

Ward 15 - Blantyre

This report contains the transfers results.

Stage 2 - Surplus of Maureen CHALMERS

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Gerry CHAMBERS	1,478	0.21186	313.12908
Transfer to David MCCLEMONT	50	0.21186	10.59300
Transfer to Stephen REID	9	0.21186	1.90674
Transfer to Bert THOMSON	54	0.21186	11.44044
No further preference	57	0.21186	12.07602
Not transferred due to rounding			0.00728
	Total		350.00000

This report contains the transfers results.

Stage 3 - Surplus of Mo RAZZAQ

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Gerry CHAMBERS	67	0.14285	9.57095
Transfer to David MCCLEMONT	27	0.14285	3.85695
Transfer to Calum NIMMO	59	0.14285	8.42815
Transfer to Stephen REID	37	0.14285	5.28545
Transfer to Bert THOMSON	1,196	0.14285	170.84860
No further preference	133	0.14285	18.99905
Not transferred due to rounding			0.01085
	Total		217.00000

This report contains the transfers results.

Stage 4 - Exclusion of Stephen REID

117.19219

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Gerry CHAMBERS	7	1.00000	7.00000
Transfer to David MCCLEMONT	21	1.00000	21.00000
Transfer to Calum NIMMO	18	1.00000	18.00000
Transfer to Bert THOMSON	31	1.00000	31.00000
Transfer to Gerry CHAMBERS	3	0.21186	0.63558
Transfer to David MCCLEMONT	1	0.21186	0.21186
Transfer to Bert THOMSON	2	0.21186	0.42372
Transfer to David MCCLEMONT	3	0.14285	0.42855
Transfer to Calum NIMMO	6	0.14285	0.85710
Transfer to Bert THOMSON	17	0.14285	2.42845
No further preference	33	1.00000	33.00000
No further preference	3	0.21186	0.63558
No further preference	11	0.14285	1.57135
Not transferred due to rounding			0.00000
	Total		117.19219

Report Name: Transfers_V0001_Ward-15---Blantyre_06052022_174554.pdf Created: 06-5-2022 17:45:54

This report contains the transfers results.

Stage 5 - Exclusion of David MCCLEMONT

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Gerry CHAMBERS	93	1.00000	93.00000
Transfer to Calum NIMMO	12	1.00000	12.00000
Transfer to Bert THOMSON	33	1.00000	33.00000
Transfer to Gerry CHAMBERS	32	0.21186	6.77952
Transfer to Calum NIMMO	1	0.21186	0.21186
Transfer to Bert THOMSON	3	0.21186	0.63558
Transfer to Gerry CHAMBERS	6	0.14285	0.85710
Transfer to Calum NIMMO	1	0.14285	0.14285
Transfer to Bert THOMSON	10	0.14285	1.42850
No further preference	52	1.00000	52.00000
No further preference	15	0.21186	3.17790
No further preference	13	0.14285	1.85705
Not transferred due to rounding			0.00000
	Total		205.09036

This report contains the transfers results.

Stage 6 - Exclusion of Calum NIMMO

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Gerry CHAMBERS	9	1.00000	9.00000
Transfer to Bert THOMSON	235	1.00000	235.00000
Transfer to Gerry CHAMBERS	1	0.21186	0.21186
Transfer to Bert THOMSON	2	0.21186	0.42372
Transfer to Gerry CHAMBERS	2	0.14285	0.28570
Transfer to Bert THOMSON	38	0.14285	5.42830
No further preference	185	1.00000	185.00000
No further preference	2	0.21186	0.42372
No further preference	26	0.14285	3.71410
Not transferred due to rounding			0.00000
	Total		439.48740